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| moBBEXERELE,
D 5x—4=11 —2x—1=5
5x =11+ 4 —2x=5+1
bx =15 —2X=206
X=3 X= —3
® 8x+5=13 ©® —3x+2=5
8x =13 —5 —3x=05—2
8x =38 —3Xx=3
x=1 x=—1
® 4x—9=15 —10x+ 7= —13
4x=15+9 —10x= —13 —7
4x =24 —10x = —20
X=26 X=2
@ 8+3x=—10 @ —5x+9=—6
3x = —10 —8 —5x= —6 —9
3x = —18 —5x= —15
X= —6 X=3
® 7+6x=—5 @ —10 —4y = —22
6x = —5—7 —4y=—22+10
6x= —12 —4y = —12
X= —2 y =3
® 7y—9=19 @ —16 —13x = 36
Ty=19+9 —13x =36 + 16
Ty = 28 —13x = 52
y =14 X= —4
@ 37+ 12x= —11 W —6x+17= -3
12x = —11 —37 Coxm el
12x = —48 Sox= el
X = —4 XZQZE
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1] ZOAEXEBELEL,
D 9x=5x+ 12

9x —bx =12
4x =12

X=3

@ 5x=2x+ 15
bx —2x=15
3x =15

X=25

@ 8x =3x —20
8x —3x= —20

5x= —20

X= —4
@ 4x=Tx+9
4X—=T7Tx=9
—3x=9

X= —3

® 6x —14 = 4x
6X —4x =14
2x =14
X=717
©® 3+4y=y
4y —y= —3
3y=—3

y= —1

@ —14 —12x = 2x

—12x—2x =14
—14x =14
x=—1

2x = —20 +7x
2X —17Tx= —20

—b5x = —20
X=4
© 3x=5x+14
3X—Hx=4
—2Xx =14

X= —2

—9x + 39 =14x
—9X —4x= —39
—13x = —39
X=3
@ —8x= —11x—15
—8x+ 11x= —15b

3x = —15
X= —5
@ —9y —36 =3y
—9y —3y =36
—12y = 36
y= —3
® —x+ 16 = —9x
—X+9x= —16
8x = —16
X= —2

—3x+22=—9x
—3X+9x = —22
6x = —22

X = G
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[1] mOABREMEL S,

D 4x+5 =3x+ 10
4x —3x =10 —5
X=5
@ 2x—5 =4x+ 15
2X —4x=15+5
—2x =20

x= —10
@ 3x+7=7x—9
3X—T7Tx=—9 —7
—4x= —16
XxX=1
@ —4x—7=9+4x
—4X—4Xx=9 +7
—8x =16
X= —2
® —1+6x=7x+5
6X—7x=5+1
—X=06
X= —6
©® 5—4y=—Ty+11
—4y+T7y=11—5
3y=256
y =2
@ 12x —15 =15 + 18x
12x —18x = 15 + 15
—6x =30

x= —bh

3x+ 11 = —7x —19
3X+7x=—19 —11
10x = —30
X= —3
@ 2x —27=17Tx+3
2X —Tx=3+ 27

—bx =30
X= —6
—x—2=x+2
—X—Xx=2+2
—2Xx =14
X= —2
@ 5x—7=8x—10
5X —8x = —10 + 7
—3Xx= —3
x=1

@ 5—8y=4y—31
—8y —4y= —31 —5
—12y = —36
y =3
@ 17 —3x=4x—18
—3X —4x= —18 —17
—7x= —35
X=5
4x —7T=9x—5
4X —9x = —5+7
—bx =2
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